1. (10 pts) Evaluate the following limit. Carefully justify your answer,
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2. (10 pts) Evaluate the following series
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3. (10 pts) Find all values of & for which the following series comverges, Carefizl

your answer.

9//‘[(:6 G/ h 4 T - -
&f"-‘"e&- (TC >,
‘TP Ccaal
= R T s
— —
y =y

Hence |
€€, Dy }}f.e s A cospiridon fozt He ..

f/fi’t..f}/c'_f C{_,’ &AM /é Q.
bl se Wil Coie g o

5“/‘/’@5 e k #0O. .

/.bc“ |
We /CHG‘ Cv é T COnvergpee L J=-<S< '
s - g g,k' - & 4 =< ‘“?*5"--.._

2
i;l
f

1 \/Q/c-zq :[e A”“\ P
ﬂ_)w Je 3 R ot f ) 3
J :,;"-l. s /T e o :
- - :

Srnce a/f‘y e F z"fo/a = .

Hér‘ce) &y ]L[c'.' /.-’;-\-r/( c—{-;_../ GriSen 'LES‘:‘ Ny ;
~ <, o NS ‘:‘_

Convergos culen k+e

Generated by CamScanner




4. (10 pts) Determine if the following series converges or diverges. Carefully justify your
answer.
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5. Show that the following series converges conditionally. Carefully justify your answer.
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6. (10 pts) Find the interval of convergence for the following power series.
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7. (10 pts) Let f(x) = cos(x)sin(x).

A) Find the cubic polynomial representing the first four terms of the Macluarin series for
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B) Use Taylor's formula to estimate the error in approximating f(r) by the polynomial
found in part A) on the interval on [S%, §].
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